YR29FE NHIEERINR
(Nifz bl ETER HENE B 8 ] B 8 £ ]
244422 =ER BAFRET P STEBOKXIERE 0 2P o HSRATER & 0
2
IREHKX I EE 0 FTELEEE (KFEdzaE38, ) nf 2,734
EREASESHAD (H30.1.157%) 23,196 A e 1,060 BEAS = |
Rk .
= REHOKXIS A 1,290,000 e 1
(DBEFBEKICHDNDED) ’ ’ IEE@E
REHERAD T -
. - A niaiiﬁmczm\zzgm 0 SERRN 2
SREERHIKEER e
B Y B rigti’%m):vb\éﬁﬂ))g 0 BHREE S 1
i 430,471 REHKAD 0 ST 0
i - TS | MR K NRE - HRAW ———
mis 2,218,273 PRI 0 SEREY 0
BT 38 REHKAD 0 ST 6
L RIS Pk eSS e R —
#3F0 Tt 0 (5BBKRCHDZED) 0 SERRN 1
sE% HRIAIL 260,802 kKAl 0 Tt 1
L= INHREE S HEK IR 5% KT S —
ZOfth 41,000 (5BEKCHDBED) 0 SRS 3
N P 103 O35+« ISV RREBAD 0 - ETES 0
EBS | sopsps == 73 SHMERLRLEAD o0 | |ZDED SEBEN 0
RELR (HERD 101,931 _ | hEfIziEER B 3 ERIE 1
RB - =T
MBERE (FhEIA) 0 D=z s —BIEIFES IR | B 0.0 SERBEH 3
)USE&B*JJ:
nBAD 6,230 | [P oo | FEBTAT TSGR B 0 B 0
U S : I ERRIR
) FRNRE 1,670 | —uEBEaTIER | BT 0.0 SEHAY 0
TieE MEBAD 23,196 s ) | PRI BT 0 5 Sl 1
CH = FFEK1S
FRIINER 6,288 Toh s | mr 0.2 BEREM 0
N HETE O |z psgny |HoRIERES | THETA TIHES B 0 5 B 0
SIS -~ A -
[ —HEEESE o [B®  h-n  |—mmmeses s 0.2 SEBEN 0
KEE |#KAD
BRIk HEIE 0 sz BT YT 5EER ERjE 0 REV5— Sl 0
BHiels | _gemese 0 O e 0.0 BFOR SR 0
RTEHIRAD 3,676 p— ISERRR | ThEIA TI5EER BRI T 0 BROK BIEHEN 0
REENBEN
SHEBKX EEE 2,302,000 FAEsE | hEIA TI5EES I AT 0 ERIE! 23
e ES i
REHKR AT 1,450,000 Y HME | BN IR BIE T 3 L@ 2,690
= == _ _
SHEERARIR Y 1 f?t‘ Ciem | MEIAIIZNERR R i 1 P ity CtofED 820,966
TKEE | ARTKE SHERRINBIRG | i | : Y GEE®) 69,970
NEHE
HEMER TR 2,302,000 ity (o) 209,764
ZEE
MR TS 1,450,000 @ GEER) 0
FEDNEREAAD 3,676 TIHFRRES Tih (i) 1,178
B2E
HEKSEFRESAD 3,497 ZDHOERE Tt (iE 0




